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 - trubka •

 51/2,5 m
m

  = 6,90 m
hm

otnos• 1bm
 - 2,99 kg/m

celková hm
otnos• + 5 %

´= 2,99 x 6,90 x 1,05 = 21,66 kg
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 profil 40/20/2 m

m
 -  1,10 m

 - 8 ks
hm

otnos• 1bm
 - 1,75 kg/m

celková hm
otnos• + 5 %

´= 8 x 1,75 x 1,10 x 1,05 = 16,17 kg
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m
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chodiskový stupeò P
 -800/240 - 9 K

S

hm
otnos• 1bm

 - 9,22 kg/m

celková hm
otnos• + 5 %

´= 9,22 x 1,600 x10 x1,05 = 154,90 kg

hm
otnos• 1ks - 10,90 kg/, celkom

 15 ks 500x1000
celková hm

otnos• + 5 %
´= 15 x 10,90 x 1,05 = 171,68 kg

hm
otnos• 1ks - 4,40 kg

celková hm
otnos• + 5 %

´= 9 x 4,40 x 1,05 = 41,60 kg
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nosná konštrukcia - 120/80/4 m
m

 
hm

otnos• 1bm
 - 11,80 kg/m

dlžka = 3,95+3,95+/5*1,24/+1,44+1,44= 16,98 m
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dlžka 1 ks = 1,600m
, 10 ks

celková hm
otnos• + 5 %

´= 16,98 x 11,80 x 1,05 = 210,38 kg

S
chodnica U

E
 180 m

m
hm

otnos• 1bm
 - 16,30 kg/m

celková hm
otnos• + 5 %

´= 16,30 x 2,550 x 2 x1,05 = 87,30 kg
dlžka 1 ks = 2,550m

, 2 ks
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10/1,5 m

m
 - 8 x 6,900 m

 = 55,20 m
hm

otnos• 1bm
 - 0,617 kg/m

celková hm
otnos• + 5 %

´= 55,20 x 0,617 x 1,05 = 35,76 kg


